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1. The pH of a solution of 1 M HCl is:.

A 0

B. 0.1

C. 1

D. 10

E. 7

2. Two amino acids of the standard 20 contain sulfur atoms. They are:
A. cysteine and serine.

methionine and cysteine

cysteine and threonine,

methionine and serine

threonine and serine.
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3. In hemoglobin, the transition from T state to R state (low to high affinity) is triggered by:
A. Fe? binding.

heme binding.

oxygen binding.

water binding.

H* binding.
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4. An enzyme follows (31E) Michaelis-Menten kinetics:

Vo Substrate added
(mol/min) (mmol/L)
207 1.00
315 2.00
421 4.00
491 6.00
628 1,000.00

The K, for this enzyme is approximately:

A. 1.00 mM.  EFERER
. 1,000.00 mM. |
2.00 mM. |

4.00 mM. :
6.00 mM. % , H;H\Z ZE
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5. This sugar is a(n):

| H 0

\/

H =G = OH
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A. aldose
ketose
amino acid
fatty acid
nucleotide
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6. A major component of RNA but not of DNA is:
A. adenine. |

cytosine.

guanine.

thymine.
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uracil.
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9. Iz chiral center ? (10%)

10. When an acid (HA) at pH = 6.0: concentration of HA = 0.025; concentration of A- = 0.25.

What is the pKa value for HA? (15%)
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